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Q:-1. Three coins are tossed simultaneously. Find the

probability of getting- At most one heads.

3TT: - Teh AT di ek 38Te oITd 2

3ATereh O ATereh Ueh ¥R 2 shl THTIAT kT UdT ¢TTU?
(a) 1/6

(b) 1/4

(c) 3/8

(d) 1/2




Q:-1. Three coins are tossed simultaneously. Find the

probability of getting- At most one heads.

3TT: - Teh AT di ek 38Te oITd 2
3ATeres O ATereh Ueh ¥R 2 shl THTIAT kT UdT ¢TTU?
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Q:-2. If S coins are tossed simultaneously find the probability of getting

at least 2 heads?

e 5 Terent Rl Ueh AT IDTAT ATAT & 1 A T A 2 a1 iy ailRresar
AT <hifeTy 2

(a) 3/16

(b) 5/18

(c) 13/16

(d) 5/16




Q:-2. If S coins are tossed simultaneously find the probability of getting

at least 2 heads?

e 5 Terent Rl Ueh AT IDTAT ATAT & 1 A T A 2 a1 iy ailRresar
AT <hifeTy 2
(a) 3/16
(b) 5/18
(c) 13/16




Q:-3. Four coins are tossed together. Find the probability of getting

exactly 3 heads ?
IR TRl R Teh UTYA IDBTAT ATAT 21 ek 3 e 1= Y ariRrekar Jma

Srfu?

(a) 1/8

(b) 1/4 \“Q_S

(c) 5/18 =
(d) 3/8




Q:-3. Four coins are tossed together. Find the probability of getting

exactly 3 heads ?
IR TRl R Teh UTYA IDBTAT ATAT 21 ek 3 e 1= Y ariRrekar Jma

Srfu?

(a) 1/8

(c) 5/18
(d) 3/8




Q:-4. Two coins are tossed simultaneously find the probability of

getting- (i) Head on both coins.
32T; - 21 TUFhT ! Uk AT ISTAT ATAT 8, ST ferdFeht U —

(i) ST fererent oX o 2 . [V(/’I](’/T)CTM)(TT) 1

(a) 1/2 \
(b) 1/4
(c) 3/4
(d) 3/8




Q:-4. Two coins are tossed simultaneously find the probability of

getting- (i) Head on both coins.
32T; - S TSR] 1 Ueh TTY IDBTAT ATAT 8, ST {eaFeht U —
(i) BT Terarent u fom 2

(a) 1/2

() 3/4
(d) 3/8




Q:-5. Two coins are tossed simultaneously. Find the
probability of getting-(ii) 1 Head & 1 tail on both coins ?
32T: - 31 FUareRl ekl Ueh AT ISBTAT ATAT &, ST f¥Aereht Uz —
(ii) ST fererenT W Uk B TR Ueh ¢ &

(a) 1/2
(b) 1/4 -y

/

(¢) 3/4 RN
(d) 3/8




Q:-5. Two coins are tossed simultaneously. Find the
probability of getting-(ii) 1 Head & 1 tail on both coins ?
32T: - 31 FUareRl ekl Ueh AT ISBTAT ATAT &, ST f¥Aereht Uz —
(ii) ST fererenT W Uk B TR Ueh ¢ &

Q2

(b) 1/4
(c) 3/4
(d) 3/8










Q:-1. Two dice are thrown simultaneously ----
(i) What is probability of getting a su@
T 9 o Y UThRiehdT =T 22
(a) 1/9

Qg‘\,\) (w,s)

(b) 1/6 X
(c) 1/4 569 () (206)

(d) 3/7 =
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Q:-1. Two dice are thrown simultaneously ----

(i) What is probability of getting a sum 9
TIT 9 TureT < urfRreRar @ &2

(b) 1/6
(c)1/4
(d) 3/7




Q:-2. Two dice are thrown simultaneously ----

(i) A sum is divisible by 5.

I 5 | ST g =R 2

(a) 7/36 < — < \ ,_\4) Q«FS) Q’S ! 30 (2 '3)

(b) 1/6 @ o — (s (e (W)
(c) 13/36
(d) 3/16 ®/

1D~ €

LD
D g




Q:-2. Two dice are thrown simultaneously ----
(i) A sum is divisible by 5.
Tt 5 9 farsrsr gt =t 2

(b) 1/6
(c) 13/36
(d) 3/16




Q:-3. Two dice are thrown simultaneously ----

A sum is divisible by 4
Teh 1T 4 ¥ faamer 22 - <,’3>Q3,\) (2,2)

b 2 o — () (EDEOGEDCD

BE o 12— (66

(d) 3/7




Q:-3. Two dice are thrown simultaneously ----

A sum is divisible by 4

T IR 4 | [T 82
(a) 1/9
(b) 1/6

(d) 3/7




Q:-4. Two dice are thrown simultaneously . Find the probability of

getting —

(v) same number on both dice

ZIHT ITET U AT HEAT BT SR

(a) 1/9
(b) 1/6
(c) 1/4
(d) 3/7




Q:-4. Two dice are thrown simultaneously . Find the probability of

getting —

(v) same number on both dice

ZIHT ITET U AT HEAT BT SR

(a) 1/9

(¢)1/4
(d) 3/7
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Q:-5. Two dice are thrown simultaneously. What is the probability of

getting two numbers whose product

2 UTH Ueh W1 Sheh ST ¥) VY S1 TEATE UTH i eht UTirehaT &/ & Rent

-/ | — f
V%S T 82 - ’ v P
(a) 1/6 = 2 ,S | s .

(b) 1/4 , ~ \3' K2
(c) 3/4 - \\/ / o
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Q:-5. Two dice are thrown simultaneously. What is the probability of

getting two numbers whose product is even?

31 UTH Ueh |1 ek STTd 21 THT 3T TEATU UTH hi chl TTHRrehaT o & foaaent
U W 82

(a) 1/6

(b) 1/4

(d) 1/2
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Q:-1. From a pack of 52 cards, a card is drawn at random. Find the

probability that the drawn card is a king ?

FHTS & Ueh |, Teh IS ATGo0h ®U § IR ToRIT ATAT Bl 38 THTSAT i
WIS ok dIR TS Uk AT S 2 "

T

(a) 2/13
(b) 1/26
RNR
YRR




Q:-1. From a pack of 52 cards, a card is drawn at random. Find the

probability that the drawn card is a king ?

FHTS & Ueh |, Teh IS ATGo0h ®U § IR ToRIT ATAT Bl 38 THTSAT i
WIS ok dIR TS Uk AT S 2

(a) 2/13
(b) 1/26

(d) 3/13




Q:-2. If from a pack of 52 playing cards, two cards are drawn at

random; what is the probability that these are face cards?
3R 52 AT ok UAT o Ueh Uche W, G hiS ATGro0eh & ¥ Tiel ATd &; T
TTaT e T Aoy wE B2

(a) 11/52
(b) 11/221
(c) 13/121
(d) 13/52




Q:-2. If from a pack of 52 playing cards, two cards are drawn at

random; what is the probability that these are face cards?

3T 52 TT9T & UAT o Ueh Uohe W, 3T hTS ATGIoDeh U ¥ Tl ATd & T
GUTIAT 8 foh T og hE B2

(a) 11/52

(c) 13/121
(d) 13/52




Q:-3. If there are two children in a family, find the probability that there

is at least one glrl in the family ?

aﬁ-:qsﬁuﬁanfra‘raﬁ% T IR | W © ThH Ueh Ageh! &I chi TRkl

ATq hIfsTu?
(a) 2/5 C@@)) C%m> CU\ 2) (um>

(b) 1/6

(c) 3/4 @@\ > B~
() 3/7 3{ Jr = -
3\ 3\—\- =7
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Q:-3. If there are two children in a family, find the probability that there

is at least one girl in the family ?

Tfe U ufEr | 2 o= 8, 9t IRER § 67 & THH Teh eiSehl 81 hl TTHRIehdT
AT <hifTg?

(a) 2/5

(b) 1/6

_/
(d) 3/7
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Q:-4. A committee of 5 people is to be formed from among 4 girls and 5
% boys. What is the probability that the committee will have less number of

boys than girls?

4 TTSTRAT 3T 5 TRl W W 5 T Al Ueh HUST IATE AT gl FAT TTTIehdT

2 Tor wiufa & ereferat &Y g & ergewt 61 v w1 grfi?

(a) 7/14

WNAE

(c) 6/13

(d) 5/14







